State of Wisconsin DEPARTMENT OF NATURAL RESOURCES 3911 Fish Hatchery Road Fitchburg WI 53711 Tony Evers, Governor Preston D. Cole, Secretary Telephone 608-266-2621 Toll Free 1-888-936-7463 TTY Access via relay - 711



February 21, 2020

Estate of Richard Johnson c/o Ed Francois 128 W. Main Street Belleville WI 53508

## RE: Public Bidding Deferred – Cost Cap Approved

**PECFA # 53534-1824-25-A** DNR BRRTS # 03-54-176662 North Main Citgo, 25 N Main St, Edgerton

On February 17, 2020, the Wisconsin Department of Natural Resources (Department) received a scope of work (SOW) and cost estimate utilizing the chapter NR 747, Wisconsin Administrative Code, Usual and Customary Cost Schedule (Cost Schedule) for the site referenced above.

The Department has determined that the submitted SOW is reasonable and **approves** the additional costs. This site will be deferred from the public bidding process at this time. The Department will contact you if this site will be bid in the future.

The scope of work includes activities to delineate and remove free product, groundwater sampling of three monitoring wells, preparation and certification of a case closure request, and sealing of site monitoring wells (this latter activity will not be conducted until directed by the Department). A copy of the Department worksheet for the Cost Schedule tasks is enclosed for your reference.

## **Deferment Cost Cap Approved:**

#### \$28,971.46

Be reminded that ch. NR 700 semi-annual progress reporting is required until this case is closed.

**Note:** A claim for PECFA reimbursement must be submitted within 180 days of incurring costs (i.e., completing a task). If a claim for costs incurred is not submitted within this deadline, the costs will not be eligible for PECFA reimbursement.

Usual and customary costs for activities included in this approval will only be reimbursed at a rate equal to or less than what is allowed on the Cost Schedule and are reimbursed based upon the Cost Schedule that is in effect at the time the activity is performed. Costs for activities not included in this approval are not reimbursable without prior Department authorization.

Regulatory Correspondence (Task 7, Activity RC05), Claim Submittal (Task 27, Activity CS05) and Standardized Invoice (Task 28, Activity SI05) costs are not included in the cap approved above. These activities will be reimbursed according to the task specifications and with submittal of proper supporting documentation at claim review time.



The Department approves a variance from the Cost Schedule for conducting a UVOST\_HP survey to delineate free product and weekly bailing of free product for up to 7 weeks. Do not include these costs (\$20,216.90) on the standardized invoice for usual and customary cost activities. Include these costs on a separate company invoice. When you submit the claim for these costs, please attach a copy of this letter and the attached worksheet for the claim reviewer's reference. The Department waives the commodity three-bid requirement with this variance approval.

The Department considers the consultant the primary controller of costs during these activities. This approval does not guarantee eligibility of any specific costs that have been incurred or that may be incurred in the future. Final determination regarding the eligibility of costs will be made by the claim reviewer when the entire claim, including all invoices and reports, is submitted for payment.

Thank you for your efforts to protect Wisconsin's environment. If you have any questions, please contact me at 608-275-3257 or cynthia.koepke@wisconsin.gov.

Sincerely,

Cynthia L. Koepke, P.G. Remediation & Redevelopment Hydrogeologist South Central Region

Enclosure: Usual and Customary Cost Schedule Worksheet

cc: R. Anderson & J. Powell, Metco (by email) Suzanne Johnson, 5128 N. Waverly Dr., Milton 53563

# Usual and Customary Standardized Invoice #27 January 2020 - June 2020



PECFA #:	53534-1824-25	Vendor Name:		
BRRTS #:	03-54-176662	Invoice #:	U&C Total \$	8,754.56
Site Name:	North Main Citgo	Invoice Date:	 Variance to U&C Total \$	20,216.90
Site Address:	25 N. Main St., Edgerton	Check #:	Grand Total \$	28,971.46

TASK	TASK DESCRIPTION	SERVICES	ACTIVITY CODE	ACTIVITY REFERENCE CODE DESCRIPTION	UNIT	٧	MAX UNIT COST UNITS		TOTAL MAX
1	GW Sampling		GS05	Sample Collection	Well	\$	74.62	2 \$	149.24
1	GW Sampling		GS06	Sample Collection in well w/LNAPL	Well	\$	90.07	1 \$	90.07
1	GW Sampling		GS20	Measure Water Levels (for wells not being sampled)	Well	\$	15.14	7\$	105.98
1	GW Sampling		GS25	Primary Mob/Demob	Site	\$	690.92	1 \$	690.92
4	Waste Disposal	Consultant	WD05	Consultant Coordination	Site	\$	141.24	1 \$	141.24
4	Waste Disposal	Commodity	WD17	Landfill Environmental Fee (provide documentation)	ACTUAL COST				
4	Waste Disposal	Commodity	WD20	Free Product	Drum	\$	122.32	1 \$	122.32
4	Waste Disposal	Commodity	WD25	Primary Mob/Demob	Site	\$	316.47	1\$	316.47
5	Closure Request		CR05	Primary Closure Request	Submittal	\$	2,781.00	1\$	2,781.00
5	Closure Request		CR30	PE review and certification of closure packet	Site	\$	1,129.60	1 \$	1,129.60
8	Well Abandonment	Consultant	WAB05	Coordination	Site	\$	162.86	1 \$	162.86
8	Well Abandonment	Consultant	WAB10	Water column < 30 ft	Ft	\$	2.60	234 \$	608.40
8	Well Abandonment	Consultant	WAB20	Bentonite Pellets (50lb bag - 1/4" pellet)	Bag	\$	11.14	8\$	89.12
8	Well Abandonment	Consultant	WAB25	Portland Cement (94lb bag)	Bag	\$	8.44	4 \$	33.76
8	Well Abandonment	Consultant	WAB31	Primary Mob/Demob w/ vapor point abandonment	Site	\$	563.48	1\$	563.48
8	Well Abandonment	Consultant	WAB32	Vapor Point Abandonment	Point	\$	81.58	3\$	244.74
15	Misc. Drilling Activities & Supplies		MDT41	Private Utility Locate	ACTUAL COST			\$	375.00
20	Soil Boring/Monitoring Well Permits		SBMWP05	Soil Boring/Monitoring Well Permit	Permit	\$	253.50	2\$	507.00
31	Consultant Overnight Per Diem		COPD05	Overnight	Night	\$	125.09	1 \$	125.09
33	Schedule Of Laboratory Maximums	Commodity		Laboratory (see task 33 total on Lab Schedule)	Lab Schedule			\$	125.04
36	Change Order Request		COR05	Change Order Request (cost cap exceedance requests)	Change Order	\$	393.23	1 \$	393.23
Variance	UVOST-HP Survey including approx	k. 20 borings to	~20 feet bgs	s (subcontractor)				\$	13,000.00
Variance	, e	k. 20 borings to	o ∼20 feet bgs	s (project manager, prep, and fieldwork, 30 hours at \$94.13/h	our)			\$	2,823.90
Variance	Weekly free product check/bail: 10 hours at \$62.76/hour per event for 7 events							\$	4,393.00



# Usual and Customary Standardized Invoice #27 January 2020- June 2020



		TOTAL LAB CHARGES	S ######	TASK 33	4	######	TASK 24	0	\$-
MATRIX	REF CODE	REIMBURSABLE ANALYTE	UNITS	MAX COST	SAMPLES	TOTAL	MAX COST	SAMPLES	TOTAL
AIR	A1	Benzene	SAMPLE	\$ 46.29		\$-			
AIR	A2	BETX	SAMPLE	\$ 50.94		\$-			
AIR	A3	GRO	SAMPLE	\$ 47.48		\$-			
AIR	A4	VOC's	SAMPLE	\$ 74.09		\$-			
WATER	W1	GRO/PVOC	SAMPLE	\$ 30.07		\$-			
WATER	W2	PVOC	SAMPLE	\$ 27.80		\$-			
WATER	W3	PVOC + 1,2 DCA	SAMPLE	\$ 45.10		\$-			
WATER	W4	PVOC + Naphthalene	SAMPLE	\$ 31.26		\$ 125.04			
WATER	W5	VOC	SAMPLE	\$ 74.09		\$-			
WATER	W6	PAH	SAMPLE	\$ 75.17		\$-			
WATER	W7	Lead	SAMPLE	\$ 12.76		\$-			
WATER	W8	Cadmium	SAMPLE	\$ 13.96		\$-			
WATER	W9	Hardness	SAMPLE	\$ 12.76		\$-			
WATER	W10	BOD, Total	SAMPLE	\$ 24.34		\$-			
WATER	W11	Nitrate	SAMPLE	\$ 11.58		\$-			
WATER	W12	Total Kjeldahl	SAMPLE	\$ 20.88		\$-			
WATER	W13	Ammonia	SAMPLE	\$ 17.42		\$ -			
WATER	W14	Sulfate	SAMPLE	\$ 10.50		\$ -			
WATER	W15	Iron	SAMPLE	\$ 10.50		\$ -			
WATER	W16	Manganese	SAMPLE	\$ 10.50		\$-			
WATER	W17	Alkalinity	SAMPLE	\$ 10.50		\$ -			
WATER	W18	methane	SAMPLE	\$ 47.48	:	\$-			
WATER	W19	Phosphorous	SAMPLE	\$ 18.60	:	\$-			
WATER	W20	VOC Method 524.2	SAMPLE	\$ 181.59	:	\$-			
WATER	W21	EDB Method 504	SAMPLE	\$ 98.31	:	\$ -	MAX COST	SAMPLES	TOTAL
SOILS	S1	GRO	SAMPLE	\$ 25.52	:	\$ -	\$ 25.52		\$ -
SOILS	S2	DRO	SAMPLE	\$ 31.26		\$ -	\$ 31.26		\$ -
SOILS	S3	GRO/PVOC	SAMPLE	\$ 28.98		\$-	\$ 28.98		\$
SOILS	S4	PVOC	SAMPLE	\$ 26.60		\$-	\$ 26.60		\$ -
SOILS	S5	PVOC + 1,2 DCA + Naphthalene	SAMPLE	\$ 50.94		\$ -	\$ 50.94		\$ -
SOILS	S6	PVOC + Naphthalene	SAMPLE	\$ 37.10		\$-	\$ 37.10		\$ -
SOILS	S7	VOC	SAMPLE	\$ 74.09		\$ -	\$ 74.09		\$ -
SOILS	S8	SPLP Extraction VOC only	SAMPLE	\$ 52.13		\$-	\$ 52.13		\$ -
SOILS	S9	PAH	SAMPLE	\$ 75.17		\$-	\$ 75.17		\$ -
SOILS	S10	Lead	SAMPLE	\$ 12.76		\$ -	\$ 12.76		\$
SOILS	S11	Cadmium	SAMPLE	\$ 15.04		\$ - •	TAS	SK 24 TOTAL	. \$ -
SOILS	S12	Free Liquid	SAMPLE	\$ 11.58		\$-			
SOILS	S13	Flash Point	SAMPLE	\$ 26.60		\$-			
SOILS	S14	Grain Size - dry	SAMPLE	\$ 44.02		\$-			
SOILS	S15	Grain Size - wet	SAMPLE	\$ 59.05		\$-			
SOILS	S16	Bulk Density	SAMPLE	\$ 13.96	:	\$ -			

MATRIX	REF CODE	REIMBURSABLE ANALYTE	UNITS	MAX COST	SAMPLES	τοτ/	AL MAX	COST	SAMPLES	TOTAL
SOILS	S17	Permeability	SAMPLE	\$ 42.83		\$	-			
SOILS	S18	Nitrogen as Total Kjeldahl	SAMPLE	\$ 20.88		\$	-			
SOILS	S19	Nitrogen as Ammonia	SAMPLE	\$ 17.42		\$	-			
SOILS	S20	% Organic Matter	SAMPLE	\$ 30.07		\$	-			
SOILS	S21	TOC as NPOC	SAMPLE	\$ 59.05		\$	-			
SOILS	S22	Soil Moisture Content	SAMPLE	\$ 7.03		\$	-			
SOILS	S23	Air Filled Porosity	SAMPLE	\$ 26.60		\$	-			
SOILS	S24	% Total Solids	SAMPLE	\$ 7.03		\$	-			
SOILS	S25	Field Capacity	SAMPLE	\$ 28.98		\$	-			
SOILS	S26	TCLP Lead	SAMPLE	\$ 85.65		\$	-			
SOILS	S27	Cation Exchange (Ca, MG, & K)	SAMPLE	\$ 27.80		\$	-			
SOILS	S28	TCLP Cadmium	SAMPLE	\$ 85.65		\$	-			
SOILS	S29	TCLP Benzene	SAMPLE	\$ 85.65		\$	-			
LNAPL	LFPS01	Viscosity + Density Interfacial tension I (LNAPL/water [dyne/cm]) Interfacial tension II (LNAPL/air [dyne/cm]) Interfacial tension III (water/air) [dyne/cm])	SAMPLE	\$ 578.17		\$	-			
				TAS	SK 33 TOTAL	\$ 125	5.04			